Solubility #2
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A solution contains SO,* and CI'. Outline an experimental procedure to remove each
ion individually from the solution, and identify the reagents used in the procedure.

@Add etther Ca(NOs3), or Sy (NOQ3),
or Ba (NOsY), atlow it +o Sedie —> ppts SOy 2~

@ Add CuND; +o PPY Cl7. Alow Tt 40 Sedie out

A solution is known to contain Cu*, Be?* and Sr2* ions, each at a concentration of

0.20 M.
(a) What compound could be used to precipitate the Sr2* while leaving the other two

cations in solution?
Na-=9S O¢
(b) Write the net ionic equation for the reaction.
Se™caq) T S04 (ag) €= SeSCu )
A solution contains Pb?>*, Mg?*, and S2*. Outline a procedure to isolate the
precipitate SrSO, from this solution.
¢ 1) Use Nall o ppr . pp2t ,. PbCH,
2) Use Naa1SOuw ¥0 ppr SeSOL
or

1) Use KOW +o ppr berh Pb>" and Mg>t (o P (CH) 5 ana Mg (TH
2) Us€ Na.S0¢ +o ppt SeS0y

Write the formula of two materials (other than water) that could be added to a saturated
solution of Ag,CO; to increase the amount of Ag,COj; that will dissolve. R
Ag: Coz > 2A9Y + CO3>" or haliae Ton CV7 t AgTes ag(,

0dd Someting YT Rmeve A«;J* oc (O3>~ 29 Awid = CC3 ko e

A solution contains Ca2*, S2* and Pb2* ions that must be separated. COy+H:
(a) Identify an anion that could be used to remove only the lead ion by precipitation.

C\_r I_:Br_ | Sz’
(b)  Identify an anion that could be used to separate Ca?™ from Sr2+.
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Use the table of solubilities to determine a scheme that allows the separation of Ba?*,
Cu?*, and Br from each other.

OAo\é\ 50»( T+ r,o+ %"?"P - -
O Add 577 g 0 .'C.:.*.fﬁ
@ Add Agj' t et BT

Use the table of solubilities to describe how you would separate Mg?*, Ba?* and Ag*
from each other.

O Add Necl —> As*v ™ =—> AqC|
@ Aot /\/0\2,501.{ —> 73&1+¢ 50\11’ s EQSOV
. @ ’A-JU(A‘LOF{ —_ MD 2t + 2047 e HJCOH)L

Use the table of solubilities to outline a scheme to separate a mixmre of Li*, Ag™*, S©2+
and Fe’* from each other.

0:4(7{0‘ NQ.CQ  — Aj#* C/’<-;' AjC/
@ Add Nea, S > Z_/’,’QBJJ—ES - £ > /-/QLS?
() Add MeeSO, —> S5 5007 «— S50,

l_l v Y /QC‘{ .

A beaker contains OH" ions and S°" ions in solution both at a concentration of 0.10 M.
You are asked to precipitate the OH" ions while leaving the S%" ions in solution.
(a) Which reagent could vou use?

r.PD—LCNos 2 e HjC}\v'O5>'. b4 Cc»Cf\)Os)L ~ ’BQ_G\SO;\L

(b) Write the net ionic equation for the precipitation reaction.
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